
ΛΥΣΕΙΣ 

Πρόβλημα 1 

 

Α) Το Σάββατο 164 ευρώ 

Β) Την Τετάρτη 97 ευρώ 

Γ)       155  1 

         -  97 

            58 ευρώ 

Δ)    155   1   1 

        164 

    + 147 

       466 ευρώ 

 

Πρόβλημα 2 

 

α) 2 x 5 = 10 ευρώ την εβδομάδα 

β) 15 – 10 = 5 ευρώ του περισσεύουν 

γ) 4 x 10 = 40 ευρώ το μήνα  

δ) 9 x 40 = 360 ευρώ τη σχολική χρονιά  

 

 

Πρόβλημα 3 

 

Α)          458  1   1                  Β)    822              Γ)      364 

           + 364                                + 163                      -  163 

               822                                   985                          201 

 

 


